L =X BiER

10 - 20 - 302 KD ER SF5%E2H23H
IE {3 K % ouT I N TOTAL] HDCP NET
& rl EFER 53 54 107 33.6 73.4
Ep EMED 55 56 111 36 75
3 fz| HH EH 52 52 104 27.6 76.4
B-B| ®&HHA 66 60 126 36 90
A0E X DER
IE {3 K % ouT I N TOTAL] HDCP NET
A BEEEE 50 41 91 19.2 71.8
@i R4 EiE 42 39 81 8.4 72.6
3 | LRIk 41 44 85 12 73
B-B| dLilEts 53 54 107 21.6 85.4
505X DER
IE {3 K % ouT I N TOTAL] HDCP NET
A BEEET 40 41 81 9.6 71.4
T B - 45 50 95 22.8 72.2
3 fi| LM =8 52 52 104 31.2 72.8
4 2| AXH 45 46 91 18 73
5 | #HKKRE 46 49 95 21.6 73.4
B-B| ER E—EB 53 72 125 36 89
60X DER
IE {3 K % ouT I N TOTAL] HDCP NET
& rl BEe-—x 35 39 74 1.2 72.8
s T 36 42 78 4.8 73.2
3 | B4 ME 57 50 107 33.6 73.4
4 fiz| 7R EA 43 39 82 8.4 73.6
5 fi| B4 EmpE 50 50 100 26.4 73.6
B-B| =H &k 55 60 115 32.4 82.6
70 - 80X DER
IE {3 K % ouT I N TOTAL] HDCP NET
TAAREE 40 38 78 6 72
s HHEER 37 39 76 3.6 72.4
3 | BEREE 43 38 81 8.4 72.6
4 fz| IREF AR 36 37 73 0 73
5 | & EA 48 49 97 24 73
B-B| % &t 46 46 92 12 80
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